#### ORD# 0357-2013, DIVISION OF WATER DRWP TREATMENT CAPACITY INCREASE - FILTER BUILDING REHAB / I & C BACKBONE CONTRACT NO. 1009-Part 2, C.I.P. NO. 690428-100003

#### **BID TABULATION, OPENED 1/23/13**

Pay Item	Description	Qty's	Unit	Engineer's Estimate		Kokosing Construction Company, Inc.		Shook Walbridge JV (Joint Venture)		Kenmore C Compa
No.				Unit/L.S. Price	Extended Toal	Unit/L.S. Price	Extended Total	Unit/L.S. Price	Extended Total	Unit/L.S. Price
1	DRWP Treatment Capacity Increase, Filter Bldg. Rehab/I&C Backbone, Complete-Construction Except for Pay Items 2 thru 5	1	L.S.	\$34,800,000	\$34,800,000	\$27,814,000	\$27,814,000	\$28,348,000	\$28,348,000	\$28,745,000
2	Extra Excavation	500	C.Y.	\$25	\$12,500	\$12	\$6,000	\$10	\$5,000	\$16
3	Extra Select Backfill	500	C.Y.	\$30	\$15,000	\$40	\$20,000	\$30	\$15,000	\$28
4	Extra Rock Excavation	200	C.Y.	\$150	\$30,000	\$50	\$10,000	\$60	\$12,000	\$20
5	General Cash Allowance	1	Allow	\$350,000		. ,	\$350,000	\$350,000	\$350,000	\$350,000
	SUBTOTAL			\$35,207,500.00						(
6	6 Conting. = 15% of Pay Items 1-5			\$5,281,125.00						
BIDDER'S TOTAL			\$40,488,625.00 \$32,430,000.00		\$33,039,500.00					
	% DIFFERENCE FROM ENGINEE	R'S EST	ГІМАТЕ			-19.90%		-18.40%		
(	(3) Addendum Ackldgmnts. Completed? (Proposal Pg. 9)					yes		yes yes		
Proposal Signature Completed ? (Proposal Pg. 10)				yes		s yes				
Proposed Subs C.C.? (Bid Supp Forms Pgs. 2-3)						yes		·		No; Jadco Con
Contract Compliance No. (Bid Supp Forms Pg. 5)						31-1023518 (exp. 2/14/14, MAJ)		46-1512353 (exp. 12/10/14, MAJ)		34-0802152 (e
Statements & Affidavits Completed? (Bid Supp Forms Pgs. 24-										
	21)					7.7 7.6	yes	T. I. C.	yes	01: E
Bonding Company (Bid Supp Forms Pg. 28)						Liberty M	utual & Travelers	Travelers Casua	alty & Surety Co.	Ohio Farm

# ORD# 0357-2013, DIVISION OF WATER DRWP TREATMENT CAPACITY INCREASE - FILTER BUILDING CONTRACT NO. 1009-Part 2, C.I.P. NO. 690428-100003 BID TABULATION, OPENED 1/23/13

Pay Item	Description	Qty's	Unit	Engineer's	onstruction ny, Inc.	
No.	2400-4400	<b>Q</b> •9, 5		Unit/L.S. Price	Extended Toal	Extended Total
1	DRWP Treatment Capacity Increase, Filter Bldg. Rehab/I&C Backbone, Complete-Construction Except for Pay Items 2 thru 5	1	L.S.	\$34,800,000	\$34,800,000	\$28,745,000
2	Extra Excavation		C.Y.	\$25	\$12,500	\$8,000
3	Extra Select Backfill	500	C.Y.	\$30	\$15,000	\$14,000
4	Extra Rock Excavation	200	C.Y.	\$150	\$30,000	\$4,000
5	General Cash Allowance	1	Allow	\$350,000	\$350,000	\$350,000
	SUBTOTAL			\$35,207,500.00 \$29,121,000.00		
6	Conting. = 15% of Pay Items 1-5		\$5,281,125.00 \$4,368,150			
	BIDDER'S TOTAL	\$40,488,625.00 \$33,489,150.00				
	% DIFFERENCE FROM ENGINEE	R'S EST	TIMATE			-17.29%
(	3) Addendum Ackldgmnts. Completed?			yes		
	Proposal Signature Completed ? (			yes		
	Proposed Subs C.C.? (Bid Supp			struction inactive		
	Contract Compliance No. (Bid Su			xp. 8/3/13, MAJ)		
Statem	ents & Affidavits Completed? (Bid Supp			yes		
	Bonding Company (Bid Sup			ers Insurance Co.		

### ORD# 0357-2013, DIVISION OF WATER DRWP TREATMENT CAPACITY INCREASE - FILTER BUILDING CONTRACT NO. 1009-Part 2, C.I.P. NO. 690428-100003 BID TABULATION, OPENED 1/23/13

Pay Item	Description	Qty's	Unit -	Engineer's Estimate		Danis Industrial Construction		Building Crafts, Inc.		Adams Robins
No.				Unit/L.S. Price	Extended Toal	Unit/L.S. Price	Extended Total	Unit/L.S. Price	Extended Total	Unit/L.S. Price
1	DRWP Treatment Capacity Increase, Filter Bldg. Rehab/I&C Backbone, Complete-Construction Except for Pay Items 2 thru 5	1	L.S.	\$34,800,000	\$34,800,000	\$29,538,000	\$29,538,000	\$30,645,599	\$30,645,599	\$31,790,000
2	Extra Excavation	500	C.Y.	\$25	\$12,500	\$12	\$6,000	\$20	\$10,000	\$20
3	Extra Select Backfill	500	C.Y.	\$30	\$15,000	\$30	\$15,000	\$50	\$25,000	\$50
4	Extra Rock Excavation	200	C.Y.	\$150	\$30,000	\$80	\$16,000	\$200	\$40,000	\$40
5	General Cash Allowance	1	Allow	\$350,000	\$350,000	\$350,000	\$350,000	\$350,000	\$350,000	\$350,000
	SUBTOTAL			\$35,207,500.00		\$29,925,000.00				
6	6 Conting. = 15% of Pay Items 1-5			\$5,281,125.00		\$4,488,750.00		\$4,660,589.85		
BIDDER'S TOTAL				\$40,488,625.00		\$34,413,750.00		\$35,731,188.85		
	% DIFFERENCE FROM ENGINEE	R'S ES	ГІМАТЕ				-15.00%		-11.75%	
(	(3) Addendum Ackldgmnts. Completed? (Proposal Pg. 9)						yes		yes	
Proposal Signature Completed ? (Proposal Pg. 10)						yes		· ·		
Proposed Subs C.C.? (Bid Supp Forms Pgs. 2-3)						yes		No; several subs inactive		
Contract Compliance No. (Bid Supp Forms Pg. 5)						Active under diff't # in bid book		`		
Statements & Affidavits Completed? (Bid Supp Forms Pgs. 24-27)							ves		rrent w/City Income Γaxes"; ok on others	
	Bonding Company (Bid Sup	s Pg. 28)			Travelers Casua	alty & Surety Co.		osit Co. of Maryland		
		-				•	•	C 1:-		

Corrected rounding.

# ORD# 0357-2013, DIVISION OF WATER DRWP TREATMENT CAPACITY INCREASE - FILTER BUILDING CONTRACT NO. 1009-Part 2, C.I.P. NO. 690428-100003 BID TABULATION, OPENED 1/23/13

Pay Item	Description	Qty's	Unit	Engineer's	on Enterprises	
No.	23301-puon	Qo, s		Unit/L.S. Price	Extended Toal	Extended Total
1	DRWP Treatment Capacity Increase, Filter Bldg. Rehab/I&C Backbone, Complete-Construction Except for Pay Items 2 thru 5	1	L.S.	\$34,800,000	\$34,800,000	\$31,790,000
2	Extra Excavation	500	C.Y.	\$25	\$12,500	\$10,000
3	Extra Select Backfill	500	C.Y.	\$30	\$15,000	\$25,000
4	Extra Rock Excavation	200	C.Y.	\$150	\$30,000	\$8,000
5	General Cash Allowance	1	Allow	\$350,000	\$350,000	
	SUBTOTAL			\$35,207,500.00 \$32,183,000.0		
6	Conting. = 15% of Pay Items 1-5		\$5,281,125.00 \$4,827,450.			
	BIDDER'S TOTAL	\$40,488,625.00 \$37,010,45				
	% DIFFERENCE FROM ENGINEE	R'S EST	TIMATE			-8.59%
(	3) Addendum Ackldgmnts. Completed?			yes		
	Proposal Signature Completed ? (			yes		
	Proposed Subs C.C.? (Bid Supp			yes		
	Contract Compliance No. (Bid Su			xp. 2/1/14, MAJ)		
Statem	ents & Affidavits Completed? (Bid Supp			yes		
	Bonding Company (Bid Sup	p Form	s Pg. 28)			Mutual Insurance